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Chapter 3

Is each number a solution of the given 'inequa!ity?

1. 3y + 4= —10

a. -2 L;%‘e;:,_% b. 2 Exj@?; ¢ -5 E\‘\f{}
2. —Sx+4=9
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Write an inequality to model each situﬁﬁjon.
3. The package must weigh less than 25 Ib. x&ﬁ"ﬁ
4. The houses must be more than 12 ft apart. 3¢ > e
5. Tickets to the movie cost at least $3.50. > = = 5}
6. The wind speed is greater than 10 mi/b. —
peseRE W >0
Write an inequality for each graph.
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Solve each inequality. Graph the solution. |, cj 3 U
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Chapte'r Test (continued) | Form B
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Chapter 3

Write a compound inequality that each graph could represent.
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37. Open-Ended Describe a real-life sitnation you could represent with the

mequality 5 = £ = 15. N i o el ke v e e i Tde, LT
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38. Diana is earning money by mowing lawns, She charges $15 per yard.

Lawn mower rental costs $30. Write and solve an inequality to find the R - Ld; ™
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minimum number of yards she must mow to make a profit of at least $40. ; PP et
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39. Doreen has started a part-time business making and selling bird feeders.

Her equipment costs $75. If she makes a profit of $6 on each, how many

bird feeders must Doreen sell to make a total profit of more than $135?
Write and solve an inequality for this situation. . N
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